NOTE: You are not responsible for questions 1 and 3a, 3b, and 3c.


Show all work to receive full credit.
NAME: _______________________________

1. Let 
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 where f (x) is the function graphed below on the interval [(4, 4]. 
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a. (5 pts.) Identify the locations (i.e., x values) of all local extrema of Af  and identify them as local minima or maxima. Justify your answer.

b. (5 pts.) Find the interval(s) on which Af is increasing.

c. (5 pts.) Find the interval(s) on which Af is concave up.

2. (12 pts.) Indicate whether the following statements are True or False. No justification is necessary.

a. A definite integral represents the entire family of antiderivatives of a function.

b. An indefinite integral represents signed area.

c. The Midpoint Rule receives twice as much weight as the Trapezoid Rule in the computation of Simpson’s Rule.

d. The approximation Mn always falls between Rn and Ln. 
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3. (36 pts.) Evaluate the following.

a. 
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b. 
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c. 
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d. 
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e. 
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f. 
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4. a) 
(10 pts.) Compute the L4 approximation (using regular partitions) of 
[image: image9.wmf](

)

ò

+

-

4

0

2

2

10

dx

x

x

. (Your answer should be in the form of an integer).

b) 
(6 pts.) Is the R4 approximation of the integral in part a) larger or smaller than the L4 approximation? (You don’t have to compute R4, but do justify your answer).

c)
(6 pts.) Is the T4 approximation of the integral in part a) larger or smaller than the M4 approximation? (You don’t have to compute T4 and M4, but do justify your answer.)

5. (15 pts.) Find the exact value of 
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(Hint: Recognize this as a Riemann sum of a function over some interval).
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